



Science

ON AN EXPANSION FORMULA FOR THE MULTIVARIABLE I - FUNCTION INVOLVING GENERALIZED LEGENDRE'S ASSOCIATED FUNCTION

Yashwant Singh ¹, Harmendra Kumar Mandia ²

¹ Department of Mathematics, Government College Kaladera, Jaipur (Rajasthan), INDIA

² Department of Mathematics, Seth Motilal (P.G.) College, Jhunjhunu (Rajasthan), INDIA



ABSTRACT

The authors have established a new expansion formula for multivariable I -function due to Prasad [5] in terms of products of the multivariable I -function and the generalized Legendre's associated function due to Meulenbeld [3]. Some special cases are given in the last.

Keywords:

Multivariable I -function, Generalized Legendre's associated function, Multivariable H -function.

(2000 Mathematics subject classification: 33C99)

Cite This Article: Yashwant Singh, and Harmendra Kumar Mandia, "ON AN EXPANSION FORMULA FOR THE MULTIVARIABLE I -FUNCTION INVOLVING GENERALIZED LEGENDRE'S ASSOCIATED FUNCTION" International Journal of Research – Granthaalayah, Vol. 4, No. 1 (2016): 55-62.

1. INTRODUCTION

The multivariable I -function introduced by Prasad [5] will be define and represent it in the following manner:

$$I[z_1, \dots, z_r] = I_{p_2, q_2, \dots, p_r, q_r; (p', q') \dots; (m^{(r)}, n^{(r)}) \dots; (m^{(r)}, n^{(r)})}^{0, n_2, \dots, 0, n_r; (m', n') \dots; (m^{(r)}, n^{(r)})}$$

$$\left[z_1, \dots, z_r \left| \begin{array}{l} (a_{2j}, \alpha_{2j}, \alpha_{2j}^{\prime})_{1, p_2} \dots (\alpha_{rj}, \alpha_{rj}^{\prime}, \alpha_{rj}^{\prime})_{1, p_r} : (a_j, \alpha_j^{\prime})_{1, p} \dots (a_j^{\prime}, \alpha_j^{\prime})_{1, p^{(r)}} \\ (b_{2j}, \beta_{2j}, \beta_{2j}^{\prime})_{1, q_2} \dots (b_{rj}, \beta_{rj}^{\prime}, \beta_{rj}^{\prime})_{1, q_r} : (b_j, \beta_j^{\prime})_{1, q} \dots (b_j^{\prime}, \beta_j^{\prime})_{1, q^{(r)}} \end{array} \right. \right]$$

$$= \frac{1}{(2\pi w)^r} \int_{L_1} \dots \int_{L_r} \phi_1(s_1) \dots \phi_r(s_r) \psi(s_1, \dots, s_r) z_1^{s_1} \dots z_r^{s_r} ds_1 \dots ds_r \quad (1.1)$$

Where

$$w = \sqrt{-1}$$

$$\phi_i(s_i) = \frac{\prod_{j=1}^{m^{(i)}} \Gamma(b_j^{(i)} - \beta_j^{(i)} s_i) \prod_{j=1}^{n^{(i)}} \Gamma(1 - a_j^{(i)} + \alpha_j^{(i)} s_i)}{\prod_{j=m^{(i)}+1}^{q^{(i)}} \Gamma(1 - b_j^{(i)} + \beta_j^{(i)} s_i) \prod_{j=n^{(i)}+1}^{p^{(i)}} \Gamma(a_j^{(i)} - \alpha_j^{(i)} s_i)} \quad \forall i \in (1, 2, \dots, r) \quad (1.2)$$

$$\psi(s_1, \dots, s_r) = \frac{\prod_{j=1}^{n_2} \Gamma\left(1 - a_{2j} + \sum_{i=1}^2 \alpha_{2j}^{(i)} s_i\right) \prod_{j=1}^{n_3} \Gamma\left(1 - a_{3j} + \sum_{i=1}^3 \alpha_{3j}^{(i)} s_i\right)}{\prod_{j=n_2+1}^{p_2} \Gamma\left(a_{2j} - \sum_{i=1}^2 \alpha_{2j}^{(i)} s_i\right) \prod_{j=n_3+1}^{p_3} \Gamma\left(a_{3j} - \sum_{i=1}^3 \alpha_{3j}^{(i)} s_i\right)} \dots \prod_{j=1}^{n_r} \Gamma\left(1 - a_{rj} + \sum_{i=1}^r \alpha_{rj}^{(i)} s_i\right) \dots \prod_{j=n_r+1}^{p_r} \Gamma\left(a_{rj} - \sum_{i=1}^r \alpha_{rj}^{(i)} s_i\right) \prod_{j=1}^{q_2} \Gamma\left(1 - b_{2j} - \sum_{i=1}^2 \beta_{2j}^{(i)} s_i\right) \dots \prod_{j=1}^{q_r} \Gamma\left(1 - b_{rj} - \sum_{i=1}^r \beta_{rj}^{(i)} s_i\right) \quad (1.3)$$

$\alpha_j^{(i)}, \beta_j^{(i)}, \alpha_{kj}^{(i)}, \beta_{kj}^{(i)} (i = 1, \dots, r)(k = 1, \dots, r)$ are positive numbers,

$a_j^{(i)}, b_j^{(i)} (i = 1, \dots, r), a_{kj}, b_{kj} (k = 2, \dots, r)$ are complex numbers and here

$m^{(i)}, n^{(i)}, p^{(i)}, q^{(i)} (i = 1, \dots, r), n_k, p_k, q_k (k = 2, \dots, r)$ are non-negative integers where

$0 \leq m^{(i)} \leq q^{(i)}, 0 \leq n^{(i)} \leq p^{(i)}, q^k \geq 0, 0 \leq n_k \leq p_k$. Here (i) denotes the numbers of dashes. The contours L_i in the complex s_i -plane is of the Mellin-Barnes type which runs from $-w\infty$ to $+w\infty$ with indentations, if necessary, to ensure that all the poles of $\Gamma(b_j^{(i)} - \beta_j^{(i)} s_i) (j = 1, \dots, m^{(i)})$ are separated from those of $\Gamma\left(1 - a_{rj} + \sum_{i=1}^r \alpha_{rj}^{(i)} s_i\right) (j = 1, \dots, n_r)$.

For further details and asymptotic expansion of the I -function one can refer by Prasad [5].

In what follows, the multivariable I -function defined by Prasad [5] will be represented in the contracted notation:

$$I_{p_2, q_2, \dots, p_r, q_r}^{0, n_2, \dots, 0, n_r; (m', n') \dots; (m^{(r)}, n^{(r)})} [z_1, \dots, z_r]$$

Or simply by $I[z_1, \dots, z_r]$.

According to the asymptotic expansion of the gamma function, the counter integral (1.1) is absolutely convergent provided that

$$|\arg z_i| < \frac{1}{2} \pi U_i, U_i > 0 ; i=1, 2, \dots, r \quad (1.4)$$

Where

$$\begin{aligned} U_i = & \sum_{j=1}^{n^i} \alpha_j^{(i)} - \sum_{j=n^{(i)}+1}^{p^{(i)}} \alpha_j^{(i)} + \sum_{j=1}^{m^i} \beta_j^{(i)} - \sum_{j=m^{(i)}+1}^{q^{(i)}} \beta_j^{(i)} \\ & + \left(\sum_{j=1}^{n_2} \alpha_{2j}^{(i)} - \sum_{j=n_2+1}^{p_2} \alpha_{2j}^{(i)} \right) + \left(\sum_{j=1}^{n_3} \alpha_{3j}^{(i)} - \sum_{j=n_3+1}^{p_3} \alpha_{3j}^{(i)} \right) \\ & + \dots + \left(\sum_{j=1}^{n_r} \alpha_{rj}^{(i)} - \sum_{j=n_r+1}^{p_r} \alpha_{rj}^{(i)} \right) \\ & - \left(\sum_{j=1}^{q_2} \beta_{2j}^{(i)} + \sum_{j=1}^{q_3} \beta_{3j}^{(i)} + \dots + \sum_{j=1}^{q_r} \beta_{rj}^{(i)} \right) \end{aligned} \quad (1.5)$$

The asymptotic expansion of the I -function has been discussed by Prasad [5]. His results run as follow:

$$I[z_1, \dots, z_r] = O(|z_1|^{\alpha_1} \dots |z_r|^{\alpha_r}), \max\{|z_1|, \dots, |z_r|\} \rightarrow 0$$

Where

$$\alpha_i = \min \operatorname{Re}(b_j^{(i)} / \beta_j^{(i)}), j=1, \dots, m^{(i)} ; i=1, \dots, r \quad (1.6)$$

$$\text{And } I[z_1, \dots, z_r] = O(|z_1|^{\beta_1} \dots |z_r|^{\beta_r}), \min\{|z_1|, \dots, |z_r|\} \rightarrow \infty$$

Where

$$\beta_i = \max \operatorname{Re}\left(\frac{a_j^{(i)} - 1}{\alpha_j^{(i)}}\right) ; j=1, \dots, n^{(i)}, i=1, \dots, r \quad (1.7)$$

The details of the function can be found in the paper of Prasad [5].

In this paper we will evaluate an integral involving generalized associated Legendre's function and the multivariable I -function due to Prasad [5] and apply it in deriving an expansion for the multivariable I -function in series of products of associated Legendre's function and the multivariable I -function.

2. THE INTEGRAL

The integral to be evaluated is:

$$\int_{-1}^1 (1-x)^{\rho-\frac{u}{2}} (1+x)^{\sigma+\frac{v}{2}} P_{k-\frac{u-v}{2}}^{u,v}(x) \times I \left[(1-x)^{\alpha_1} (1+x)^{\beta_1} z_1, \dots, (1-x)^{\alpha_r} (1+x)^{\beta_r} z_r \right] dx$$

$$= 2^{\rho-u+v+\sigma+1} \sum_{t=0}^{\infty} \frac{(-k)_t (v-u+k+1)_t}{\Gamma(1-u+t) t!} I_{p_2, q_2, \dots, p_r+2, q_r+1; (p', q) \dots; (p^{(r)}, q^{(r)})}^{0, n_2, \dots, 0, n_r+2; (m', n) \dots; (m^{(r)}, n^{(r)})}$$

$$\left[\begin{matrix} 2^{\alpha_1+\beta_1} z_1 \\ \vdots \\ 2^{\alpha_r+\beta_r} z_r \end{matrix} \left(\begin{matrix} (a_{2j}, \alpha'_{2j}, \alpha''_{2j})_{1, p_2} \dots; (-\sigma-v; \beta_1, \dots, \beta_r), \\ (b_{2j}, \beta'_{2j}, \beta''_{2j})_{1, q_2} \dots; (b_{rj}, \beta'_{rj}, \dots, \beta''_{rj})_{1, q_r} \end{matrix} \right) \right]$$

$$\left[\begin{matrix} (u-\rho-t; \alpha_1, \dots, \alpha_r), (\alpha_{ij}, \alpha'_{ij}, \dots, \alpha^{(r)}_{ij})_{1, p_r}; (a_j, \alpha'_j)_{1, p}; \dots; (a_j^{(r)}, \alpha_j^{(r)})_{1, p^{(r)}} \\ (u-v-\rho-\sigma-t-1; \alpha_1+\beta_1, \dots, \alpha_r+\beta_r); (b_j, \beta'_j)_{1, q}; \dots; (b_j^{(r)}, \beta_j^{(r)})_{1, q^{(r)}} \end{matrix} \right] \quad (2.1)$$

The integral (2.1) is valid under the following set of conditions:

- (i) $(\alpha_i, \beta_i) > 0; \forall i \in \{1, 2, \dots, r\}; k - \frac{u-v}{2}$ is a positive integer, k is a integer ≥ 0 .
- (ii) $\text{Re} \left(\rho - u + \sum_{i=1}^r \alpha_i \frac{b_j^{(i)}}{\beta_j^{(i)}} \right) > -1; \text{Re} \left(\sigma + v + \sum_{i=1}^r \beta_i \frac{b_j^{(i)}}{\beta_j^{(i)}} \right) > -1; (j = 1, 2, \dots, m_i; i = 1, 2, \dots, r)$

And the conditions given in (1.4) to (1.7) are also satisfied.

Proof: On expressing the multivariable I -function in the integrand as a multiple Mellin-Barnes type integral (1.1) and inverting the order of integrations, which is justified due to the absolute convergence of the integrals involved in the process, the value of the integral

$$= (2\pi w)^r \int_{L_1} \dots \int_{L_r} \psi(s_1, \dots, s_r) \sum_{i=1}^r \left\{ \phi_i(s_i) z_i^{\xi_i} \right\}$$

$$\times \left\{ \int_{-1}^1 (1-x)^{\rho-\frac{u}{2}+\sum_{i=1}^r \alpha_i \xi_i} (1+x)^{\sigma+\frac{v}{2}+\sum_{i=1}^r \beta_i \xi_i} P_{k-\frac{u-v}{2}}^{u,v}(x) dx \right\} d\xi_1 \dots d\xi_r$$

On evaluating the x -integral with the help of the integral ([4], p.343, eq. (38)):

$$\int_{-1}^1 (1-x)^\rho (1+x)^\sigma P_{k-\frac{m-n}{2}}^{m,n}(x) dx$$

$$= \frac{2^{\rho+\sigma-\frac{m-n}{2}} \Gamma\left(\rho-\frac{m}{2}+1\right) \Gamma\left(\sigma+\frac{n}{2}+1\right)}{\Gamma(1-m) \Gamma\left(\rho+\sigma-\frac{m-n}{2}+2\right)} \times {}_3F_2\left(-k, n-m+k+1, \rho-\frac{m}{2}+1; 1-m, \rho-\sigma-\frac{m-n}{2}+2; 1\right) \quad (2.2)$$

Provided that $\text{Re}\left(\rho-\frac{m}{2}\right) > -1; \text{Re}\left(\sigma+\frac{n}{2}\right) > -1$ and interpreting the result with the help of (1.1), the integral (2.1) is established.

3. EXPANSION THEOREM

Let the following conditions be established:

- (i) $\beta_1, \dots, \beta_r > 0; \alpha_1, \dots, \alpha_r \geq 0$ (or $\beta_1, \dots, \beta_r \geq 0; \alpha_1, \dots, \alpha_r > 0$);
- (ii) $m^{(i)}, n^{(i)}, p^{(i)}, q^{(i)} (i=1, \dots, r), n_k, p_k, q_k (k=2, \dots, r)$ are non-negative integers where $0 \leq m^{(i)} \leq q^{(i)}, 0 \leq n^{(i)} \leq p^{(i)}, q^k \geq 0, 0 \leq n_k \leq p_k$ and the conditions given by (1.4) to (1.7) are also satisfied.

(iii) $\text{Re}(u) > -1, \text{Re}(v) > -1, \text{Re}\left(\rho-u+\sum_{i=1}^r \alpha_i \frac{b_j^{(i)}}{\beta_j^{(i)}}\right) > -1;$

$$\text{Re}\left(\sigma+v+\sum_{i=1}^r \beta_i \frac{b_j^{(i)}}{\beta_j^{(i)}}\right) > -1; (j=1, 2, \dots, m_i; i=1, 2, \dots, r).$$

Then the following expansion formula holds:

$$(1-x)^{\rho-\frac{u}{2}} (1+x)^{\sigma+\frac{v}{2}} I \left[(1-x)^{\alpha_1} (1+x)^{\beta_1} z_1, \dots, (1-x)^{\alpha_r} (1+x)^{\beta_r} z_r \right]$$

$$= 2^{\rho+\sigma} \sum_{N=0}^{\infty} \sum_{\mu=0}^N \frac{(2N-u+v+1) \Gamma(N-u+1) \Gamma(1+v-u+N+\mu) (-N)_{\mu}}{N! \mu! \Gamma(1+v+N) \Gamma(1-u+\mu)}$$

$$P_{N-\frac{u-v}{2}}^{u,v}(x) I_{p_2, q_2, \dots, p_r+2, q_r+1; (p', q') \dots; (m^{(r)}, n^{(r)})}^{0, n_2, \dots, n_r+2; (m', n') \dots; (m^{(r)}, n^{(r)})} (a_{2j}, \alpha_{2j}, \alpha_{2j}^*, \lambda_{1, p_2}, \dots; (-\sigma-v; \beta_1, \dots, \beta_r),$$

$$\left[\begin{array}{l} 2^{\alpha_1+\beta_1} z_1 \\ \vdots \\ 2^{\alpha_r+\beta_r} z_r \end{array} \right] (b_{2j}, \beta_{2j}, \beta_{2j}^*, \lambda_{1, q_2}, \dots; (b_{ij}, \beta_{ij}^*, \dots, \beta_{ij}^{(r)}) \lambda_{i, q_r}.$$

$$\left[\begin{matrix} (u-\rho-\mu; \alpha_1, \dots, \alpha_r), (\alpha_j, \alpha_j', \dots, \alpha_j^{(r)})_{1, p_r}; (a_j, \alpha_j')_{1, p} \dots; (a_j^{(r)}, \alpha_j^{(r)})_{1, p(r)} \\ (u-v-\rho-\sigma-\mu-1; \alpha_1+\beta_1, \dots, \alpha_r+\beta_r), (b_j, \beta_j)_{1, q} \dots; (b_j^{(r)}, \beta_j^{(r)})_{1, q(r)} \end{matrix} \right] \quad (3.1)$$

Proof: Let

$$f(x) = (1-x)^{\rho-\frac{u}{2}} (1+x)^{\sigma+\frac{v}{2}} I \left[(1-x)^{\alpha_1} (1+x)^{\beta_1} z_1, \dots, (1-x)^{\alpha_r} (1+x)^{\beta_r} z_r \right]$$

$$= \sum_{N=0}^{\infty} C_N P_{N-\frac{u-v}{2}}^{u,v}(x) \quad (3.2)$$

Equation (3.2) is valid since $f(x)$ is continuous and of bounded variation in the interval $(-1, 1)$.

Now, multiplying both the sides of (3.2) by $P_{N-\frac{u-v}{2}}^{u,v}(x)$ and integrating with respect to x from -1 to

1 ; evaluating the L.H.S. with the help of (2.1) and on the R.H.S. interchanging the order of summation, using ([2], p.176, eq. (75)) and then applying orthogonality property of the generalized Legendre's associated functions ([4], p.340, eq.(27)):

$$\int_{-1}^1 P_{k-\frac{u-v}{2}}^{u,v}(x) P_{N-\frac{u-v}{2}}^{u,v}(x) dx$$

$$= \begin{cases} 0; & \text{if } k \neq N \\ \frac{2^{u-v+1} k! \Gamma(k+v+1)}{(2k-u+v+1) \Gamma(k-u+1) \Gamma(k-u+v+1)}; & \text{if } k=N \end{cases} \quad (3.3)$$

Provided that $\text{Re}(u), 1, \text{Re}(v) < 1$; we obtain

$$C_k = \frac{2^{\rho+\sigma} (2k-u+v+1) \Gamma(k-u+1)}{k! \Gamma(k+v+1)} \sum_{\mu=0}^k \frac{(-k)_{\mu} \Gamma(k-u+v+\mu+1)}{\mu! \Gamma(k-u+\mu)}$$

$$I_{\substack{0, n_2, \dots, 0, n_r+2; (m', n') \dots; (m^{(r)}, n^{(r)}) \\ p_2, q_2, \dots, p_r+2, q_r+1; (p', q') \dots; (p^{(r)}, q^{(r)})}} \left[\begin{matrix} 2^{\alpha_1+\beta_1} z_1 & (a_{2j}, \alpha_{2j}, \alpha_{2j}')_{1, p_2} \dots; (-\sigma-v; \beta_1, \dots, \beta_r), \\ \vdots \\ 2^{\alpha_r+\beta_r} z_r & (b_{2j}, \beta_{2j}, \beta_{2j}')_{1, q_2} \dots; (b_{rj}, \beta_{rj}, \dots, \beta_{rj}^{(r)})_{1, q_r}, \end{matrix} \right]$$

$$\left[\begin{matrix} (u-\rho-\mu; \alpha_1, \dots, \alpha_r), (\alpha_j, \alpha_j', \dots, \alpha_j^{(r)})_{1, p_r}; (a_j, \alpha_j')_{1, p} \dots; (a_j^{(r)}, \alpha_j^{(r)})_{1, p(r)} \\ (u-v-\rho-\sigma-\mu-1; \alpha_1+\beta_1, \dots, \alpha_r+\beta_r), (b_j, \beta_j)_{1, q} \dots; (b_j^{(r)}, \beta_j^{(r)})_{1, q(r)} \end{matrix} \right] \quad (3.4)$$

Now on substituting the values of C_k in (3.2), the result follows.

4. SPECIAL CASES

If in (2.1), we put $n_2 = \dots = n_{r-1} = 0 = p_2 = \dots = p_{r-1}, q_2 = \dots = q_{r-1} = 0$, the multivariable I - function reduces to multivariable H -function and we get result given by Saxena and Ramawat [6]

$$\begin{aligned}
 & (1-x)^{\rho-\frac{u}{2}}(1+x)^{\sigma+\frac{v}{2}} H \left[(1-x)^{\alpha_1} (1+x)^{\beta_1} z_1, \dots, (1-x)^{\alpha_r} (1+x)^{\beta_r} z_r \right] \\
 &= 2^{\rho+\sigma} \sum_{N=0}^{\infty} \sum_{\mu=0}^N \frac{(2N-u+v+1)\Gamma(N-u+1)\Gamma(1+v-u+N+\mu)(-N)_{\mu}}{N! \mu! \Gamma(1+v+N)\Gamma(1-u+\mu)} \\
 & P_{N-\frac{u-v}{2}}^{u,v}(x) H_{p+2,q+1:(p',q'):::(p^{(r)},q^{(r)})}^{0,n+2:(m',n'):::(m^{(r)},n^{(r)})} \\
 & \left[\begin{matrix} 2^{\alpha_1+\beta_1} z_1 \\ \vdots \\ 2^{\alpha_r+\beta_r} z_r \end{matrix} \left| \begin{matrix} (-\sigma-v; \beta_1, \dots, \beta_r), \\ (b_j, \beta_j, \dots, \beta_j^{(r)})_{1,q} \end{matrix} \right. \right] \\
 & \left. \left[\begin{matrix} (u-\rho-\mu; \alpha_1, \dots, \alpha_r), (\alpha_j, \alpha_j', \dots, \alpha_j^{(r)})_{1,p}, (\alpha_j, \alpha_j', \dots, \alpha_j^{(r)})_{1,p} \\ (u-v-\rho-\sigma-\mu-1; \alpha_1+\beta_1, \dots, \alpha_r+\beta_r), (b_j, \beta_j)_{1,q}, \dots, (b_j^{(r)}, \beta_j^{(r)})_{1,q} \end{matrix} \right] \right] \tag{4.1}
 \end{aligned}$$

Provided all the conditions given with (3.1) and the conditions ([7], p.252-253, eq. (c.4), (c.5) and (c.6)) are satisfied.

For $n = 0 = p, q = 0$, the multivariable H -function breaks up into a product of r H -function and consequently, (4.1) reduces to

$$\begin{aligned}
 & (1-x)^{\rho-\frac{u}{2}}(1+x)^{\sigma+\frac{v}{2}} \prod_{i=1}^r \left\{ H_{p_i, q_i}^{m_i, n_i} \left[(1-x)^{\alpha_i} (1+x)^{\beta_i} \left(\begin{matrix} \alpha_j^{(i)}, \alpha_j^{(i)} \\ b_j^{(i)}, \beta_j^{(i)} \end{matrix} \right)_{1, p_i} \right] \right\} \\
 &= 2^{\rho+\sigma} \sum_{N=0}^{\infty} \sum_{\mu=0}^N \frac{(2N-u+v+1)\Gamma(N-u+1)\Gamma(1+v-u+N+\mu)(-N)_{\mu}}{N! \mu! \Gamma(1+v+N)\Gamma(1-u+\mu)} \\
 & P_{N-\frac{u-v}{2}}^{u,v}(x) H_{2,1:(p',q'):::(p^{(r)},q^{(r)})}^{0,2:(m',n'):::(m^{(r)},n^{(r)})} \left[\begin{matrix} 2^{\alpha_1+\beta_1} z_1 \\ \vdots \\ 2^{\alpha_r+\beta_r} z_r \end{matrix} \left| \begin{matrix} (-\sigma-v; \beta_1, \dots, \beta_r), \\ \end{matrix} \right. \right] \\
 & \left. \left[\begin{matrix} (u-\rho-\mu; \alpha_1, \dots, \alpha_r), (\alpha_j, \alpha_j')_{1,p}, \dots, (\alpha_j^{(r)}, \alpha_j^{(r)})_{1,p} \\ (u-v-\rho-\sigma-\mu-1; \alpha_1+\beta_1, \dots, \alpha_r+\beta_r), (b_j, \beta_j)_{1,q}, \dots, (b_j^{(r)}, \beta_j^{(r)})_{1,q} \end{matrix} \right] \right] \tag{4.2}
 \end{aligned}$$

For $r = 1$, (4.2) gives rise to the result due to Anandani [1].

5. REFERENCES

[1] Anandani, P.; An expansion for the H -function involving generalized Legendre's associated functions, *Glasnik Mat. Tome 5 (25), No.1 (1970), 127-136.*
 [2] Carslaw, H.S.; *Introduction to the Theory of Fourier's Series and Integrals*, Dover Publication Inc., New York (1950).

- [3] Meulendbeld, B.; *Generalized Legendre's associated functions for real values of the argument numerically less than unity*, *Nederl. Akad. Wetensch Proc. Ser. A61* (1958), 557-563.
- [4] Meulendbeld, B. and Robin, L.; *Nouveaux resultats aux fonctions de Legendre's generalisees*, *Nederl. Akad. Wetensch. Proc. Ser. A* 64(1961), 333-347
- [5] Prasad, Y.N.; *On a multivariable I -function*, *Vijnana Parishad Anuusandhan Patrika*, vol.29 (4),(1986), 231-235.
- [6] Saxena, R.K. and Ramawat, A.; *An expansion formula for the multivariable H -function involving generalized Legendre's associated function*, *Jnanabha*, vol. 22(1992), 157-164.
- [7] Srivastava, H.M., Gupta, K.C. and Goyal, S.P.; *The H -functions of One and Two Variables with Applications*, *South Asian Publishers, New Delhi and Madras* (1982).